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. Instruction .: (A) Question No. 1 is an objective type qu%isoil. It has three
: " . " Sections—Section (A), Section (B) an ction (C). In

Section (A) Multiple choice guestions, in Section (B) Fill

in the blanks and in Section (C) Matching questions are
ction has 5 questions and each”question
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(Section-A) Choose and write the cargevt option |
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(F) 66

(¥ 73
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Number of Kadies in Engineer's Chain is -
(@ 30

b) 66

(c) 73

@ 100
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(37) Aenfugrq
(3) N,
(7) 2,4-F

(?) e Z-78
Weedicide is :
(@) Melathion
(b) B.H.C.

(¢) 2,4-D

(d) Dithane 7-78
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Drains prepared where suiticient wood is available -

Y Mole dramns

(M Pipe drains

() Pole drains

() Stone drains
(M SR Y Frfm e smawt .
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(V) TF61-FG-T
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In Chhattisgarh. crop rotation for 2 years in non-irrigated areas is
(@) Paddy-Wheat
(&) Paddy-Chickpea-Linseed-Cotton
(¢) Maize-Potato-Sugarcane
(d) None of the above

(v) e s s s
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Salt works as preservative :

(@) in square of Emblica (b) in pickles of lemon
(c) injelly (d) insap
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(Section-B) Fill in the blanks ;
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Brix value of tomato ketchup is

FH W A el B HEA L 10

(i) U IH B TR =
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Number of crops in crop rotation 100

Intensity of crop rotation =

(i) R A EHfawRafas i
In block level committee Secretary is :
(iv) fdfea &3 ¥ fag UG Ee T UA- ST -F - ¢ |

Paddy-linseed-cotton-gram for unirrigated area is a crop

rotation for ____ vear.
(v) EHS HIGAHT WR=___ @I g 1oL
Water requirement of crop WR=____
(@Ue-| ) FEl At R : [1%x5=5]
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() Tafaa wEd - (a) -iermE
(i) e - () wEE-AR
(ii) 24-DW TCA - () W-=
(v) DDT.W@BHC. - (d) AR
(v) TR - (e) W#ﬁ!ﬁaﬂ'{wiﬁ'@?ﬁ
(Section-C) Match the following :
Part A Part B
() Mixed crops ~ (a) Weedicides
(if) Guard crops - (b) Fungicides ’
(iiify 2,4-D and TCA - (c) Barley-Gram
' (v) DD.T.and BH.C. - (d) Insecticides
(v) Benlate ~ (¢) Sowing of gram around safflower
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Instraction : (B) Question Nos. 2 to 9 are very short answer lype questions.

Prvr

Lach question carries 2 marks. (Maximum word limit of
answer 15 30 words)

wA-2 =Euen o

(21

What is Squash ?

WH-3 TR SER A Ay 2 4!
What is meant by “Lavering™?

-4 'Heed’ F AEsfas W vd 3 Efan fret=2j
Write botanical name and family of *Jack-fruit’.

wy-5 v $hfi & 9w fafa (') | [aetastiet 2]
Write names of omamental plants (any four).

wor-6  (FAMA Ton v w19 u2eE & 2 ey fafe) [1-1-2]
Write two advantages of farmer fair and farmer demonstration.

ggA-7  ‘wHe 9w # i fafan (21
Define ‘crop rotation’.

UyI-8 7V ANE] F A FZ070 ZHT HHARC (21
Ixplain visual aids with two examples,

wA-9  ICRISAT &1 wya = fafag (#1 27) | f-1=23

Write main mission of JCRISAT (any fwo).
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Instruction : (C) Question Nos, 10 to 13 arc short answer hvpe guestions
Fach guestinn carmes 4 prarks (Maxamum word it of
answer is 75 words)
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Write temporary principles of fruit and vegetable preservation {any Jour).

ur e F = T T = fafy A s wn aE €2 4]
What do you understand by *Biyasi’ in site method in paddy?

Jaar

OR
H F1 Fdl § Syaan & A iR R 56012
How will you control weeds in paddy cultivation?
wa-Frema <1 wonferd 31 fax gra T (4]
Explain systems of drainage with the help of diagram.

Haqar

OR

wa-fawma & am (vra) fafag (w18 o))

Write advantages (importances) of drainage (any four).

& 820 FE #1 g0 TP A A h T TR RE R 3w
ot 1 37 7 0 # anafas T &t e Fifag
820 feet length was measured by engineer's chain. Chain was found

141

3 inch longer than the standard chain. Caiculate the actual length measured
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Draw a diagram of ficld and calculate the area of any one plot on the

basis of the following data :

B
450 C
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Instruction : (D) Question Nos. 14 and 15 are short answer type questions.

Each question carries 5 marks. (Maximum word limit of
answer is /50 words)
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(37) arefas ™

() df@Er (F)

(@) 3= fwed (9 2
(7) wed

[1+142+]1=5]

Describe the ‘cultivation of chrysanthemum’ under the following heads :

(a) Botanical name

!
(b) Family "

(c) Improved varieties (any fwo)

(d) Importance



g -15

Seray
OR
o # R w1 A Fded
( %) wrrefer am forgsil # wittwn {10102 1-%]
(%) Wm‘*‘ffm
(2) wEe

Describe th ivati R}
| ¢ cultivation of “lagetes spp’ under the following heads
(a) Botanical name
(6) Family
(c) Improved varieties (any two)

(d) Imporance

feoafoal fafay .
’ [2V:+ 2 8}
( 37y ¥3a 424 gUER
(&) A2 qNER
Wrile notes on
(a) White button mushroom

(b) Oyster mushroom

OR

1 F{fﬂ 0 ”,._.._‘_:,‘_,: . ﬁ]
(37) ‘gz quEE’ & 917 sfmfg

(@) ‘wrEae’ ¥ A afmdrg 7o

Write notes on |

{a) Three medicinal values of *Safed Muxli’

{hy Three medicinal values of "Kalmegh'
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Instruction : (E) Question Nos. 16 to 18 arc long answer type questions.
Each question carries 6 marks. (Maximum word limit of
answer is 250 words)
TR-16 AW G vl Fm i o @i [1+1+2+1+1=6]
(37) aFefas
() uf@Enr (Fa)

(%) &= (s an
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Explain the cultivation of *Mango™ under the following heads :
(a) Botanical name

(b) Family

(c) Vaneties (any fwo)

(d) Insect and diseasc (any one)

(e) Importance

Haqr
OR
‘sz’ &1 A F v fa vide F Fifag [1+1+1+2+1=6}
( 37) aFefas 99
(7) F9
(m) f&m (31 o=)
(z) =anfts Ae (¢ 2N)
(%) T vE

Explain the cultivation of ‘Guava’ under the following heads -
(a) Botanical name

(b) Family
(c) Variety (any one)

(d)y Commercial importance (any two)
{e) Disease and control
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(37) TR T .
(7) @R (F9) |
(%) 34 T (S o)
(3) fa=r
(3) STV ITRW
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Explain the cultivation method of ‘Mentha’ on the basis of the
following topics :

(a) Botanical name

(b) Family

(¢) Improved variety (any one)

(d) Irrigation

(e) Yield/hectare

(/) Crop protection
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